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U9D1- MCR Exam Review Solutions

Wednesday, December 27, 2017 12:23 PM

uaD1-T
MCR Exa...

Exam Review Day 1

Work through these questions at
whiteboards

1. Simplify Completely. Be sure to state
restrictions on the variable.
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2. Determine the production level
required for maximum profit. What i

?m)(\a ‘7 the maximum profit? <= Y~ val u\fe?

ﬂ}) "’Gm =-3x(x-50)+1000, where x
9@3@ is the number of items produced and
P(x) is the profit in dollars.
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3. Given the parent function, f(x) = i

and the transformation described as

y=-2f(x+4)-5
Write the image equation and state the
domain and range of both the parent

function and the image equation.
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4. Simplify, leave no negative exponents.
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5. Find all values of A, gi\fn/ ne—°
—~180° < A < 720° 4
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6. High tide is at 4 a.m. when the water is
6 m deep. Low tide is at 8 a.m. when
the water is 1 m deep.
a) Determine the following:
Maximum: © Minimum: |
% <—Amplitude: 2.5 Period: 4hrs xQ = 8 hours
Equation of Sinusoidal Axis; u = 1+a:5
Phase Shift:%{';&"t:ﬁfvf"“d* % = 3.5
snistruct a model for the height of
the function over time using a
function, where tis the time
in hours since 4 a.m. and H(t) is the

height of the water, in metres.

kcgb{o H ({3\‘-’— 2.5 cos45t +3.5

c) Construct a model for the heigh
the function over time using/a sine
.+~ function, where t is the time in

2K hours sinnd H(t) is the

D
7) Q’( height of the water, in metres.
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7. In a geometric sequence, t; = 162 and
tio = 39366. Find an expression for the
nthterm. +,=0avr""!

or’ 3936k ar‘*zluj
arb} [(p- < r=3
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r = 343 a = ./b_R'
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8. 5440 grew to $505.45 at 3.5%/a su:tba.
interest. For how long was the money

invested? I
T = Prt 2N
I = (985 P uao  r=0,035
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A:P(J“/y') A=P+1

9\ $5000 is invested at 4.3%/a

How much interest is earned on the

investment? 6.0 43
= 7 P=5600 L= ——'52

— \B ~Co bw\A
= 52426 ‘m{e,r‘esgi y W\,\vai—ciqd
1Y

p[ _ 5000 ((\+ ©O-043~ 52>
A-

=5 232,99
T = 53 52oo\o\"'5®go
T = 2232.99
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